match.c
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <unistd.h>
#include <signal.h>

#define BUFSIZE 256

int suml1=0,sum2=0;

int pointl=0,point2=0;

int p_to_cl[2],cl to_p[2];
int p_to c2[2],c2_to p[2];
char buf[BUFSIZE];

int winl=0,win2=0;

int pidl=-1,pid2=-1;

void exit_program(int code){
if(pid1>=0)
kill(pidl,SIGKILL);
if(pid2>=0)
kill(pid2,SIGKILL);
exit(code);

void sig_receive(){
exit_program(EXIT_FAILURE);

void write_int(int fd, int n){
snprintf(buf,BUFSIZE, "%d¥n",n);
write(fd,buf,strlen(buf));

) fsync(fd);

int read_int(int fd){
int i;
for(i=0; i<BUFSIZE;++i){
read(fd,buf+i,1);
if(buf[i]=="¥n"){
buf[1]=0;
break;

}
1eturn(atoi(buf));

int main(int argc,char **argv){
int i,j;
int num_game;

if(argc<=3){
fprintf(stderr,"Usage: match programl program2 num_game¥n');
exit(EXIT_SUCCESS);

num_game = atoi(argv[3]);

if(num_game <= 0){
fprintf(stderr,'num_game must be more than 0¥n");
exit(EXIT_FAILURE);

pipe(p_to_cl);
pipe(cl to p);
pipe(p_to_c2);
pipe(c2_to p);



if((pidi=fork())==0){ // childl
close(p_to_cl[1]);
close(cl_to p[0]);
dup2(p_to_c1[0],0);
dup2(cl_to p[1],1);
execl(argv[1],argv[1],argv[3],NULL);
fprintf(stderr,"Cannot execute %s¥n",argv[1]);
exit_program(EXIT_FAILURE);

}

if((pid2=fork())==0){ // child2
close(p_to_c2[1]);
close(c2_to_p[0]);
dup2(p_to_c2[0],0);
dup2(c2_to_p[1],1);
execl(argv[2],argv[2],argv[3],NULL);
fprintf(stderr,"Cannot execute %s¥n",argv[2]);
exit_program(EXIT_FAILURE);

}

signal (SIGHUP,sig_receive);
signal (SIGINT,sig_receive);

printf("%s vs %s¥n",argv[1],argv[2]);

for(J=1;j<=num_game;++j){
sum1=0;
sum2=0;
pointl=0;
point2=0;

printf("'----——---——— ¥n'");
printf("'game %d¥n",j);
for(i=1;1<=10;++i){
int betl,bet2;
betl=read_int(cl _to p[0]);
bet2=read_int(c2_to_p[0]);
suml+=bhetl;
sum2+=het2;

if(betl<bet2){
pointl+=betl+bet2;
printf("%2d: [%4d] %4d -> %5d %5d¥n",i,betl,bet2,pointl,point2);
} else if(betl>bet2){
point2+=betl+bet2;
printf("%2d: %4d [%4d] -> %5d %5d¥n",i,betl,bet2,pointl,point2);
} else {
pointl+=betl;
point2+=bet2;
printf("%2d: %4d  %4d -> %5d %5d¥n",i,betl,bet2,pointl,point2);

if(bet1<0){
printf("%2d: %s bet %d.¥n",i,argv[1],betl);
exit_program(EXIT_FAILURE);

if(bet2<0){

printf("%2d: %s bet %d.¥n",i,argv[2],bet2);
exit_program(EXIT_FAILURE);
}

write_int(p_to_cl[1],bet2);
write_int(p_to_c2[1],betl);

iT(sum11=10000){
printf("%s bet totally %d.¥n",argv[1],suml);
exit_program(EXIT_FAILURE);

1T (sum21=10000){
printf("%s bet totally %d.¥n",argv[2],sum2);
exit_program(EXIT_FAILURE);

if(pointl>point2){
printf (" [%5d] %5d¥n",pointl,point2);
printf("%s won.¥n",argv[1]);
winl++;

} else if(pointl<point2){
printf(""  %5d [%5d]¥n",pointl,point2);
printf("%s won.¥n",argv[2]);
win2++;



} else {
printf("  %5d  %5d¥n",pointl,point2);
printf("Draw.¥n");

}

printf("----————— - ¥n'");

printf("%s won : %d, %s won : %d, Draw : %d¥n",argv[1], winl, argv[2], win2, num_game-winl-win2);
exit_program(EXIT_SUCCESS);

exit(0);
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